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Five persons are working at different 
departments of different companies 
in different cities.
P works in Mumbai but doesn’t work 
at HR department. Q works in Wipro 
but doesn’t work in Jaipur and 
Kolkata. O works in Content 
department but doesn’t work in TCS 
and IBM. Person who works at 
Production in Infosys doesn’t work in 
New Delhi and Mumbai. N works at 
Sales but doesn’t work in Chennai. 
Person who works in Mahindra works 
in Chennai. M doesn’t work in 
Kolkata. Person who works in 
Marketing department doesn’t work 
in IBM.

प ांच व्यक्ति विभिन्न शहरों में विभिन्न
कां पननयों के विभिन्न विि गों में क ययरि हैं। P 
म ांबई में क यय करि है लेककन म नि सांस धन
विि ग में क यय नह ां करि है। Q विप्रो में क यय
करि है लेककन जयप र और कोलक ि में क यय
नह ां करि है। O स मग्री विि ग में क यय करि है
लेककन TCS और IBM में क यय नह ां करि है।
इांफोभसस में प्रोडतशन में क म करने ि ल 
व्यक्ति नई दिल्ल और म ांबई में क म नह ां करि 
है। N सेल्स में क यय करि है लेककन चेन्नई में
क यय नह ां करि है। िह व्यक्ति जो मदहांद्र में
क यय करि है, चेन्नई में क यय करि है। M 
कोलक ि में क यय नह ां करि है। िह व्यक्ति जो
म केद ांग विि ग में क यय करि है, IBM में क यय
नह ां करि है।
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Five persons are working at different 
departments of different companies 
in different cities.
P works in Mumbai but doesn’t work 
at HR department. Q works in Wipro 
but doesn’t work in Jaipur and 
Kolkata. O works in Content 
department but doesn’t work in TCS 
and IBM. Person who works at 
Production in Infosys doesn’t work in 
New Delhi and Mumbai. N works at 
Sales but doesn’t work in Chennai. 
Person who works in Mahindra works 
in Chennai. M doesn’t work in 
Kolkata. Person who works in 
Marketing department doesn’t work 
in IBM.
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In which of the following city M works?
(a) Mumbai
(b) New Delhi
(c) Chennai
(d) Jaipur
(e) None of these

In which of the following department P works?
(a) Marketing
(b) Sales
(c) Production
(d) Content
(e) None of these

Who among the following works in Chennai?
(a) N
(b) Person who works at HR department
(c) O
(d) Person who works in TCS
(e) None of these
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Which of the following is true?
(a) P-HR-New Delhi
(b) Q-Content-Jaipur
(c) O-Production-Chennai
(d) M-Sales-Kolkata
(e) None is true

In which of the following company N works?
(a) TCS
(b) Mahindra
(c) IBM
(d) Infosys
(e) None of these
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(a) If only conclusion I follows.
(b) If only conclusion II follows.
(c) If either conclusion I or II follows.
(d) If neither conclusion I nor II follows.
(e) If both conclusions I and II follow.

Statements:
Some circle are square
No square are rectangle
All rectangle are triangle
Conclusions:
I. Some circle are rectangle
II. No square is triangle

Statements:
All row are column
No row is cross
All cross are puzzle
Conclusions:
I. No row is puzzle
II. Some column are cross is a possibility.

http://www.mahendras.org/


FOR MORE DISCOUNT VISIT www.mahendras.org & USE PROMO CODE : E14727

(a) If only conclusion I follows.
(b) If only conclusion II follows.
(c) If either conclusion I or II follows.
(d) If neither conclusion I nor II follows.
(e) If both conclusions I and II follow.

Statements:
All north are east
All east are west
No east is south
Conclusions:
I. No north is south
II. Some west are not south

Statements:
Some three are one
Some one are two
No one is four
Conclusions:
I. Some three are two
II. No three are two
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839 589 427 581 275

If in each number, the first and the second digits are interchanged, which will be the second lowest 
number? यदि प्रत्येक सांख्य  में, पहले और िसूरे अांक को आपस में बिल दिय  ज ए, िो िसूर  सबसे छो   सांख्य  कौन 
सी होगी?
(a) 427
(b) 581
(c) 839
(d) 275
(e) 589

If in each number, the first and the last digits are interchanged, which among the following will be 
the third highest number? यदि प्रत्येक सांख्य  में, पहले और अांनिम अांक को आपस में बिल दिय  ज ि  है, िो 
ननम्नभलखिि में से कौन सी िीसर  सबसे बडी सांख्य  होगी?
(a) 427
(b) 581
(c) 839
(d) 275
(e) 589
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839 589 427 581 275
If in each number, the second and the third digits are interchanged, which will be the second 

highest number? यदि प्रत्येक सांख्य  में, िसूरे और िीसरे अांक को आपस में बिल दिय  ज ए, िो िसूर  सबसे बडी 
सांख्य  कौन सी होगी?
(a) 427
(b) 581
(c) 839
(d) 275
(e) 589

If two is subtracted from the first digit of each of the numbers and then the first and the third 
digits are interchanged, which of the following will be the lowest? यदि प्रत्येक सांख्य  के पहले अांक में
से िो घ   दिय  ज ि  है और कफर पहले और िीसरे अांक को आपस में बिल दिय  ज ि  है, िो ननम्न में से कौन स  
सबसे छो   होग ?
(a) 427
(b) 581
(c) 839
(d) 275
(e) 589
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839 589 427 581 275
If in each number, all the three digits are arranged in ascending order 

within itself, which of the following will be the third lowest number?
यदि प्रत्येक सांख्य  में, सिी िीन अांकों को आरोह  क्रम में व्यिक्थिि ककय  ज ि  है, िो ननम्न 
में से कौन सी िीसर  सबसे छो   सांख्य  होगी?
(a) 427
(b) 581
(c) 839
(d) 275
(e) 589
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What will be the step II from the above input if the first 
value is divided by the second value in each box?
A.1/3, 1/2
B.2, 2
C.1/2, 1/2
D.4, 2
E.3, 4

What will be the final resultant in the given input?
A.0
B.3
C.6
D.-6
E.-4
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Which of the following will be the Step II, if 2 is added to 
each odd digit and 2 is subtracted from each even digits?
A.54, 54
B.32, 46
C.56, 56
D.32, 47
E.28, 56

What will be the result if 10 is added to the final output of 
the given input?
A.8
B.14
C.4
D.16
E.12
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‘Winter happy feeling’ is coded as ‘ I13% E11@ O22# ’
‘Summer heat mountain’ is coded as ‘ I14% A26% U6& ’
‘Raining queueing clown’ is coded as ‘ O18# U22$ E12@ ‘

What is the code for ‘Maximize’ in the given code language?
A.E22#
B.O3$
C.U22#
D.U3&
E.None of these

What may be the possible code for ‘Veracity’ in the given 
code language?
A.U9#
B.O5$
C.E9#
D.A2&
E.None of these
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What may be the possible code for ‘Naval army’ in the given 
code language?
A.E14% A13&
B.E5% A14@
C.O5% E13@
D.A14@ I13$
E.None of these

What is the code for ‘College days’ in the given code language?
A.I12% E2@
B.E15@ A2&
C.O15# A2@
D.A2# O15$
E.None of these

‘Winter happy feeling’ is coded as ‘ I13% E11@ O22# ’
‘Summer heat mountain’ is coded as ‘ I14% A26% U6& ’
‘Raining queueing clown’ is coded as ‘ O18# U22$ E12@ ‘
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Symbols: Symbols in the code are used according to 

the number of vowels present in the word i.e.
1 vowel- @
2 Vowels – %
3 Vowels – #
4 vowels -&
5 vowels -$
Vowels: Vowels in the code are used according to the 

number of letters in the word
4 letters- A
5 letters- E
6 letters- I
7 letters- O
8 letters- U
Number: Numbers in the code are used according to 

place value of the reverse letter of the 3rd letter of 
the word.
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Ten persons viz. M, N, O, P, Q, R, S, T, U 
and V are staying in a five storey building 
in two different flats viz. Flat A and Flat B, 
but not necessarily in the same order. 
Flat A is to the left of flat B. Flat A of floor 
2 is immediately above flat A of floor 1 
whereas flat B of floor 2 is immediately 
above flat B of floor 1 and so on. No two 
persons stay in the same flat.
R stays on an even-numbered floor and 
immediately above U but not on the same 
flats. S stays three floors away from R on 
the same flat. Q stays on the adjacent 
floor with S but not on the same flat. M 
stays on the flat immediately below Q but 
three flats below O. The number of floors 
above O is the same as the number of 
floors below N.V stays along with T who 
stays on the same flat as P. V does not 
stay in flat B.

िस व्यक्ति अि यि। M, N, O, P, Q, R, S, T, U और V एक
प ांच मांक्जल इम रि में िो अलग-अलग फ्लै ों में रहिे हैं।
फ्लै ए और फ्लै बी, लेककन जरूर नह ां कक इसी क्रम में
हों। फ्लै ए फ्लै बी के ब ईं ओर है। मांक्जल 2 क फ्लै ए
मांक्जल 1 के फ्लै ए के ठीक ऊपर है जबकक मांक्जल 2 क 
फ्लै बी मांक्जल 1 के फ्लै बी के ठीक ऊपर है और इसी
िरह आगे िी। कोई िी िो व्यक्ति एक ह फ्लै में नह ां
रहिे हैं।
R एक सम सांख्य ि ल मांक्जल पर रहि है और U के ठीक
ऊपर रहि है लेककन सम न फ्लै पर नह ां रहि है। S उसी
फ्लै पर R से िीन मांक्जल िरू रहि है। Q, S के स ि बगल
ि ल मांक्जल पर रहि है लेककन एक ह फ्लै पर नह ां। M, 
Q के ठीक नीचे फ्लै पर रहि है लेककन O के नीचे िीन
फ्लै है। O के ऊपर मांक्जलों की सांख्य उिनी ह है क्जिनी
कक NV के नीचे की मांक्जलों की सांख्य T के स ि रहिी है
जो P के सम न फ्लै पर रहि है। V फ्लै B में नह ां रहि 
है। .
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Ten persons viz. M, N, O, P, Q, R, S, T, U 
and V are staying in a five storey building 
in two different flats viz. Flat A and Flat B, 
but not necessarily in the same order. 
Flat A is to the left of flat B. Flat A of floor 
2 is immediately above flat A of floor 1 
whereas flat B of floor 2 is immediately 
above flat B of floor 1 and so on. No two 
persons stay in the same flat.
R stays on an even-numbered floor and 
immediately above U but not on the same 
flats. S stays three floors away from R on 
the same flat. Q stays on the adjacent 
floor with S but not on the same flat. M 
stays on the flat immediately below Q but 
three flats below O. The number of floors 
above O is the same as the number of 
floors below N.V stays along with T who 
stays on the same flat as P. V does not 
stay in flat B.
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Who among the following person stay on the exact middle floor?
a) M
b) V
c) T
d) P
e) None of these

In which of the following floor and flat does N stay?
a) Floor 2, flat A
b) Floor 4, flat B
c) Floor 2, flat B
d) Floor 4, flat A
e) None of these

In which of the following option the second person lives in 
the flat immediately below the first person?
a) MP
b) OU
c) QS
d) VR
e) None of these
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How many floors are there between the floors of V and P?
a) One
b) Two
c) Three
d) More than three
e) None

Four of the following five are alike in a certain way and 
hence form a group. Find the one that doesn’t belong to that 
group.
a) OQ
b) TN
c) VM
d) PS
e) UR
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Seven persons viz. H, I, J, K, L, M and N are standing in a straight line such that all of them are facing 
towards the north, but not necessarily in the same order. Who among the following person stands second 
to the right of L?
Statement I: Only two persons stand between H and M who stands adjacent to K. J stands to 

the immediate left of N who stands two persons away from L.
Statement II: K stands four persons away from J who stands second to the left of H. Only one 

person stands between N and L. I stands to the immediate right of M.

स ि व्यक्ति अि यि। H, I, J, K, L, M और N एक सीधी रेि में इस प्रक र िडे हैं कक उन सिी क म ि उत्तर की ओर है, 
लेककन आिश्यक नह ां इसी क्रम में हो। ननम्नभलखिि में से कौन L के ि यें से िसूरे थि न पर िड है?
किन I: केिल िो व्यक्ति H और M के बीच िडे हैं, जो K के ननक िड है। J, N के ठीक ब यें िड है, जो L से िो व्यक्ति
िरू िड है।
किन II: K, J से च र व्यक्तियों की िरू पर िड है, जो H के ब यें से िसूरे थि न पर िड है। N और L के बीच केिल एक
व्यक्ति िड है। I, M के ठीक ि यें िड है।
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Six persons viz. A, B, C, D, E and F were born on different days of the same week starting from Monday to 
Saturday, but not necessarily in the same order. Who among the following person was born on Thursday?
Statement I: Two persons were born between the days on which C and B who was born on the day 

immediately before D was born. E was born on the day immediately after A.
Statement II: Only one person was born before C who was born two days away from E. B was born 

immediately after E and immediately before D. A was not born on the first day of the week.

छह व्यक्ति अि यि। A, B, C, D, E और F क जन्म सोमि र से शननि र िक एक ह सप्ि ह के अलग-अलग दिनों में ह आ ि , 
लेककन जरूर नह ां कक इसी क्रम में हो। ननम्नभलखिि में से ककस व्यक्ति क जन्म ग रुि र को ह आ ि ?
किन I: िो व्यक्तियों क जन्म उन दिनों के बीच ह आ ि क्जन दिनों C और B क जन्म ह आ ि , जो D के जन्म से ठीक पहले
पैि ह ए िे। E क जन्म A के ठीक ब ि ि ले दिन ह आ ि ।
किन II: C से पहले केिल एक व्यक्ति क जन्म ह आ ि जो E से िो दिन िरू पैि ह आ ि । B क जन्म E के ठीक ब ि और D 
के ठीक पहले ह आ ि । A क जन्म सप्ि ह के पहले दिन नह ां ह आ ि ।
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Six persons viz. U, V, W, X, Y and Z are of different weight, but not necessarily in the same order. Who among 
the following person has the second-highest weight?
Statement I: Only two persons are less weight than V who weights immediately lower than Z. X 

weights immediately higher than U whereas W weights immediately lower than Y. X doesn’t weight 
the highest among all.
Statement II: Only three persons are weighed between W and U who weights immediately lower 

than X. Y weight two persons higher than Z. V doesn’t weight more than Y.

छह व्यक्ति अि यि। U, V, W, X, Y और Z अलग-अलग िजन के हैं, लेककन जरूर नह ां कक इसी क्रम में हों।
ननम्नभलखिि में से ककस व्यक्ति क िजन िसूर सबसे अधधक है?
किन I: केिल िो व्यक्ति V से कम िजन के हैं, क्जनक िजन Z से ि रांि कम है। X क िजन U से ि रांि अधधक
है जबकक W क िजन Y से ि रांि कम है। X क िजन सबसे अधधक नह ां है।
किन II: W और U के बीच केिल िीन व्यक्तियों क िजन ककय ज ि है, क्जनक िजन X से ि रांि कम है। Y 
क िजन Z से िो व्यक्तियों क है। V क िजन Y से अधधक नह ां है।
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Statement I: “Fresh cream tastes bitter” is coded as “65 36 98 83”, “Bitter guard is good” is coded 

as “92 36 21 76” and “Ice cream tastes favourite” is coded as “98 26 83 18”.

Statement II: “Pencil writes hard words” is coded as “64 29 96 37”, “Words come fresh always” is 

coded as “10 64 34 82” and “Always come class early” is coded as “34 72 10 94”.

किन I: "ि ज क्रीम क थि ि कडि होि है" को "65 36 98 83" के रूप में कोडडि ककय ज ि है, "बब र ग डय इज ग ड" को
"92 36 21 76" के रूप में कोडडि ककय ज ि है और "आइसक्रीम क थि ि पसांि ि " को "98 26 83 18" के रूप में कोडडि
ककय ज ि है। .

किन II: "पेंभसल कदठन शब्ि भलिि है" को "64 29 96 37" के रूप में कोडडि ककय गय है, "शब्ि हमेश ि ज आिे हैं" 
को "10 64 34 82" के रूप में कोडडि ककय ज ि है और "हमेश कक्ष जल्ि आओ" को "34 72 10 94" के रूप में कोडडि
ककय ज ि है। .
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If all the letters in the word “GENTRIFICATION” are arranged in alphabetical order from 
left to right, then how many letters remain unchanged in their position?
यदि शब्ि “GENTRIFICATION” के सिी अक्षरों को ब एां से ि एां िर् यन क्रम में व्यिक्थिि 
ककय  ज ि  है, िो ककिने अक्षर अपने थि न पर अपररिनि यि रहिे हैं?
a) One
b) Two
c) Three
d) More than three
e) None
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